

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

01/27/2022 08:00 AM | Revelry Install Day 1 01/28/2022 08:00 AM | Revelry Install Day 2 01/29/2022 08:00 AM | Revelry install Day 3 01/29/2022 11:00 AM | Event 01/30/2022 08:00 AM | Revelry Strike PO: Shipping Address: Private Home 2555 Benedict Canyon Drive Beverly Hills, CA 90210

IN-0004057

424 Productions 8543 Santa Monica Blvd. Unit 11 West Hollywood, CA 90069

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gene	eral	\$0.00
Front Entrance					
	Perimeter Pullbacks for 10' x 15' Tent Valet Tent TBD Color	1	\$950.00	Т	\$950.00
	Perimeter Valance - TBD Color	1	\$550.00	Т	\$550.00
PILL	Ibiza Sofa - Half Moon White Suede	1	\$650.00	Т	\$650.00
	Custom Cover - Ibiza Sofa off white boucle	1	\$450.00	Т	\$450.00
	Round Coffee Tables - Antique Silver (Large) 42"D	1	\$250.00	Т	\$250.00
	Ottoman Pod 18"D	4	\$45.00	Т	\$180.00
			Total Front Entra	nce	\$3,030.00
Inside House					
	Tokyo Communal Table - 5'L Mirror Tops; silver frame	2	\$300.00	Т	\$600.00
-			Total Inside House		\$600.00
Entry Tent - 12 x	37 x 12H Tent				
	Partial Ceiling Drape - TBD Color	1	\$3,700.00	Т	\$3,700.00
	Perimeter Pullbacks - TBD Color double sided; sheer fabric	1	\$4,200.00	Т	\$4,200.00
	Perimeter Valance - TBD Color double sided	1	\$950.00	Т	\$950.00

Description		Qtty	Price		Total	
		Total Entry Tent	- 12 x 37 x 12H T	ent	\$8,850.00	
Main Tent & Pop	o Outs					
	Custom Flat Wave Ceiling Drape 36'W x 114'L x 36"H Wave placed every 4"	1	\$68,500.00	Т	\$68,500.00	
	Partial Ceiling Drape for 8x22 Tents	4	\$1,100.00	Т	\$4,400.00	
	Partial Ceiling Drape for 15x25 Tent	3	\$1,950.00	Т	\$5,850.00	
	Partial Ceiling Drape for 20x40 Tent	1	\$3,700.00	Т	\$3,700.00	
	Perimeter Drape & Pullbacks - Sheer Off White/Ivory for main tent and pop outs	/ 1	\$18,500.00	Т	\$18,500.00	
	Perimeter Valance - TBD Color for all tents	1	\$4,450.00	Т	\$4,450.00	
	Custom Clear Sphere 36"D clear globe fabricated with bracket at top for hanging ***this will need to be confirmed by Jan 5th***	5	\$1,875.00	Т	\$9,375.00	
	Custom Clear Sphere 30"D clear globe fabricated with bracket at top for hanging ***this will need to be confirmed by Jan 5th***	6	\$1,385.00	Т	\$8,310.00	
	Custom Clear Sphere 24"D clear globe fabricated with bracket at top for hanging ***this will need to be confirmed by Jan 5th***	8	\$975.00	Т	\$7,800.00	
	Custom Clear Sphere 18"D clear globe fabricated with bracket at top for hanging ***this will need to be confirmed by Jan 5th***	16	\$650.00	Т	\$10,400.00	
	Custom Clear Sphere 12"D clear globe fabricated with bracket at top for hanging ***this will need to be confirmed by Jan 5th***	24	\$500.00	Т	\$12,000.00	
	Berlin Sofa - Serpentine (3 Piece Set)	4	\$1,350.00	Т	\$5,400.00	
	Custom Cover - Berlin Serpentine Sofa (3pcs) off White Boucle	4	\$1,050.00	Т	\$4,200.00	
	Round Coffee Table - Antique Silver (2pcs)	4	\$350.00	Т	\$1,400.00	
	Round Coffee Table - Antique Silver (Small)	4	\$200.00	Т	\$800.00	
	Accent Table - Chrome Spring	4	\$85.00	Т	\$340.00	
	Accent Table - Las Vegas Round Mirrored	4	\$85.00	Т	\$340.00	

Description		Qtty	Price		Total
	Ottoman Pod 18"D with instock white covers	28	\$45.00	Т	\$1,260.00
	Monaco Round Bar 16'D (5pc) TBD Color with slatted mirror	1	\$3,600.00	Т	\$3,600.00
	Round Barback - Silver Frame	1	\$450.00	т	\$450.00
	Custom Plexiglass 'Wave' Backdrop Panels 10'H x 5'W for (4) different areas to create a wave effect with specialty cut plexiglass behind (2) food stations	9	\$1,450.00	Т	\$13,050.00
	New York DJ Booth White frame with flat front panel	1	\$450.00	Т	\$450.00
	New York Bar 12'L White frame with custom ombre plexiglass fronts	1	\$3,700.00	Т	\$3,700.00
	New York Bar 8'L White frame with custom ombre plexiglass fronts	2	\$1,850.00	Т	\$3,700.00
	Santorini Barback - Floating Shelves White frame with ombre colored plexiglass shelving pieces	6	\$750.00	Т	\$4,500.00
	Frankfurt Barstools - Off White	36	\$26.00	т	\$936.00
	Palm Springs Stand Up Table - Wire Frame w. White Glass Top silver base frame	15	\$175.00	т	\$2,625.00
		Total M	Main Tent & Pop Outs		\$200,036.00
VIP Lounge					
	Ibiza Sofa - Half Moon	3	\$300.00	Т	\$900.00
	Round Coffee Tables - Antique Silver (Large)	1	\$250.00	Т	\$250.00
	Round Coffee Tables - Antique Silver (Small)	2	\$200.00	Т	\$400.00
	Ottoman Pod 18"D	12	\$45.00	Т	\$540.00
	Custom Cover - Ottoman off white boucle	12	\$50.00	Т	\$600.00

Description		Qtty	Price		Total
	Ottoman Backrest	12	\$45.00	Т	\$540.0
	Custom Cover - Ottoman Backrest off white boucle	12	\$120.00	Т	\$1,440.00
			Total VIP Lour	nge	\$4,670.00
Outside Lounge					
price	Ibiza Sofa - Half Moon	4	\$650.00	Т	\$2,600.00
	Custom Cover - Ibiza Sofa Off white boucle	4	\$450.00	Т	\$1,800.00
	Round Coffee Tables - Antique Silver (Large)	4	\$250.00	Т	\$1,000.00
	Ottoman Pod 18"D	16	\$45.00	Т	\$720.00
		Ţ	otal Outside Lour	nge	\$6,120.00
Services					
	Installers: Thursday	12	\$550.00		\$6,600.00
	Installers: Friday	12	\$550.00		\$6,600.00
	Installers: Saturday Touch Ups 6am to 10am	12	\$450.00		\$5,400.00
	Installers: Strike Sunday	12	\$550.00		\$6,600.00
	Trucking: 24'L	6	\$450.00	Т	\$2,700.00
	Manager: Onsite (3) Days	1	\$1,950.00		\$1,950.00
	Manager: Designs & Layouts	1	\$1,750.00		\$1,750.00
	Certificates: Flame Proofing	1	\$1,250.00		\$1,250.00
	Supplies: Misc	1	\$1,400.00		\$1,400.00
	Custom Build: Labor and Supplies this cost is purely a guesstimate and will be subject to change	1	\$6,500.00		\$6,500.00
	Subrental: Supplies and Materials	1	\$1,000.00		\$1,000.00
	Equipment Rentals: Gator and Trailer	2	\$1,600.00		\$3,200.00

Please make checks payable to Revelry, Inc.	Total Products:	\$223,306.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full	Total Labor/Services/Misc:	\$44,950.00
Please ready the contract and sign it	Taxes :	\$21,470.57
	Discounts:	(\$0.00)

Notes

Total:	\$289,726.57
Payments:	(\$0.00)
Balance:	\$289,726.57